# TERPENE WHOLESALERS BOTANICAL TERPENE CATALOG

## 100% Natural Strains & Flavors

# David Winsen 818-371-2878 david@terpenewholesalers.com

**WHOLESALE PRICING - 07.01.23** 

2 ml x \$7.00 ml = \$14.00

5 ml x \$6.00 ml = \$30.00

10 ml x \$5.00 ml = \$50.00

30 ml x \$4.00 ml = \$120.00

50 ml x \$3.00 ml = \$150.00

100 ml x \$2.75 ml = \$275.00

250 ml x \$2.40 ml = \$600.00

500 ml x \$2.00 ml = \$1,000.00

1 liter x \$1.75 ml = \$1,750.00

5 liters x \$1.50 ml = \$7,500.00

10 liters x \$1.25 ml = \$12,500.00

20 liters x \$1.00 ml = \$20,000.00

>20 - let's talk

Plus Shipping & Insurance

**We Combine Orders** 

#### **Strain Specific Blends**

AK47 hybrid

Alien Dawg hybrid-indica

Animal Cookies hybrid

Animal Mints hybrid-indica

Apple Fritter hybrid
ATF sativa

Banana OG hybrid-indica

Bananas hybrid Berry Gelato sativa

Berry White hybrid-iindica

Biscotti hybrid Blackberry Kush indica

Blue Dream hybrid-sativa Blue Power hybrid-indica Blueberry Afgoo hybrid-indica

Blueberry Haze hybrid Blueberry Kush indica

Bruce Banner hybrid-indica

Bubblegum sativa

Bubblegum OG hybrid-sativa Candyland hybrid-sativa Cereal Milk hybrid-sativa

Champagne hybrid
Cheetah Piss indica
Chemdawg hybrid

Cherry Kush hybrid-indica

Clementine sativa Cookies N Cream hybrid

Crunch Berry Kush hybrid-indica

Diablo OG indica
Diamond OG indica
Do-si-dos hybrid
Durban Poison sativa
Fire OG indica

Forbidden Fruit hybrid-indica

Fruity Pebbles hybrid
Garlic Breath hybrid
Gelato hybrid
Gelato #33 hybrid

Girl Scout Cookies hybrid-indica

GMO hybrid

#### **Strain Specific Blends**

Gods Gift hybrid-indica Golden Berry hybrid-sativa Gorilla Glue hybrid-sativa

Granddaddy Purp indica
Grape Ape indica
Grape Pie indica

Grape Stomper hybrid-sativa
Grapefruit Kush hybrid-indica

Green Crack sativa
Gusher hybrid
Hardcore OG indica

Headband hybrid-indica

Hella Jelly sativa
Hindu Kush indica
Jack Herer sativa
Jet Fuel OG hybrid

King Louis XIII hybrid-indica Kosher Kush hybrid-indica

Kush Mints hybrid

Larry OG hybrid-indica

Lemon Alien Dawg hybrid Lemon Berry hybrid

Lemon OG hybrid-sativa

Lemon Slushy hybrid

Lemonade hybrid-sativa

Limoncello sativa Mai Tai hybrid

Mango Kush hybrid-indica

Mars OG indica Master Kush indica

Maui Wowie hybrid-sativa

Melonade hybrid

Mimosa hybrid-sativa

Northern Lights indica

OG Kush hybrid-indica
Orange Cookies hybrid-indica

Orange Daiquiri hybrid
Orange Kush indica
Pineapple Express sativa
Pink Panties indica

Platinum Cookies hybrid-indica

## **Strain Specific Blends**

Platinum OG indica
Purple Punch indica
RS11 hybrid
Runtz hybrid

SFV OG hybrid-indica
Sin Mints hybrid-i
Skywalker OG hybrid
Slurricane hybrid

Sour Diesel hybrid-sativa

Sour Skittlez sativa Sour Tangie sativa Strawberry Cough sativa

Strawnana hybrid-indica

Sundae Driver hybrid
Sunset Sherbert hybrid
Super Lemon Haze sativa
Super Silver Haze sativa
Trainwreck sativa

Tropicana Cookies hybrid-sativa

Uk Cheese hybrid

Wedding Cake hybrid-indica

Wedding Crasher hybrid

White Fire OG hybrid-indica White Widow hybrid-sativa XJ13 hybrid-sativa

Zkittlez indica

#### **Flavor Blends**

**Apple Cider** hybrid-indica Apricot hybrid-indica Asian Pear hybrid-indica hybrid-indica Banana Banana Nut hybrid-indica Blackberry hybrid-indica **Blood Orange** hybrid-indica Blue Raspberry hybrid-indica Blueberry hybrid-indica Blueberry Cheesecake hybrid-indica Bubblegum hybrid-indica Candy Cane hybrid-sativa Caramel Candy hybrid-indica Cherry hybrid-indica Chocolate hybrid-indica Coconut hybrid-indica Cola hybrid-sativa Cookie Dough hybrid-indica **Cotton Candy** hybrid-indica Cucumber hybrid-sativa Fruit Punch hybrid-sativa Grape hybrid-sativa Grapefruit hybrid-sativa Green Apple hybrid-sativa Guava hybrid-indica Irish Cream hybrid-indica Kiwi hybrid-sativa Lemon Lime hybrid-sativa hybrid-sativa Lime Lychee hybrid-indica Mango hybrid-indica Mocha hybrid-indica Papaya hybrid-indica **Passion Fruit** hybrid-indica hybrid-indica Peach hybrid-sativa Peppermint Pina Colada hybrid-sativa **Pineapple** hybrid-sativa Pistachio hybrid-indica **Pumpkin Spice** hybrid-indica Strawberry hybrid-indica **Tangerine** hybrid-sativa Watermelon hybrid-indica hybrid-indica White Chocolate

#### **Effect Blends**

#### **Suggested Flavors**

| Calm     | (balance & wellness)        | grape, lychee, guave, blackberry     |
|----------|-----------------------------|--------------------------------------|
| Creative | (intuition & imagination)   | grapefruit, blood orange, lemon lime |
| Energy   | (efficiency & stamina)      | pineapple, peppermint, mojito        |
| Focus    | (sharpness & attentiveness) | guava, cucumber, mango               |
| Recovery | (renewed & lively)          | blueberry, apricot, watermelon       |
| Rest     | (comfort & relaxation)      | banana, pistachio, white chocolate   |
| Sex      | (arousal)                   | strawberry, watermelon               |

#### **Effect Blends**

# **Top 3 Terpenes**

| Calm     | (balance & wellness)        | b-Caryophyllene, Linalool, Terpineol   |
|----------|-----------------------------|--|
| Creative | (intuition & imagination)   | a-Pinene, b-Pinene, Valencine          |
| Energy   | (efficiency & stamina)      | a-Pinene, b-Pinene, Limonene           |
| Focus    | (sharpness & attentiveness) | Myrcene, a-Pinene, Geraniol            |
| Recovery | (renewed & lively)          | b-Caryophyllene, d-Carene, a-Bisabolol |
| Rest     | (comfort & relaxation)      | Myrcene, Linalool, Terpinolene         |
| Sex      | (arousal)                   | Linalool, Anisaldehyde, Sage Oil       |

All of our Effects Based Blends are made using the terpenes matching the proposed effects. These were created for maximum efficacy and for allowing you to add any flavor you like. These will be great for cart manufactures with the marketing focused less on strain name recognition and more on the medical benefits of terpenes.

These are available in a water-soluble formulation as well.

#### **Need a Gassier Terpene Blend?**

Try GAS UP

A blend of some of the gassiest terpenes, alcohols, and esters naturally occurring in cannabis and hemp. The main components giving it the gassiest nose are myrcene, limonene, b-caryophyllene, and <14% isoamyl alcohol. Intended to enhance either flower that has lost its "GAS" or to be added to your terpene blend to give it that diesel taste. We recommend a maximum of 2% GAS UP in your distillate and no more than 2-3ml per pound of flower.

The price is about 30% less expensive than our Terpene Strains & Flavors

\_\_\_\_\_\_

#### **Having Viscosity Issues with Your Distillate?**

Try THE JUICE - Viscosity Helper

A near flavorless terpene blend, with mild floral notes. Used as a diluent to help with viscosity levels in formulations. The Juice is one of the only diluents on the market that can legally and safely be added to a cannabis products according to the Department of Cannabis Control (DCC) guidelines. Meaning that all of the ingredients used are naturally occurring in cannabis. Great for really thick distillate such at Delta 8 - recommended usage- 1-3% by volume (1L distillate would need 10-30ml of The Juice). Compare to True Terpenes- Viscosity

The price is about 30% less expensive than our Terpene Strains & Flavors

# **Bottle Sizes**

| 1000 | ml |
|------|----|
| 500  | ml |
| 250  | ml |
| 100  | ml |
| 30   | ml |
| 10   | ml |
| 2    | ml |

